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FIK PRI CHR S N ZE N DR DAL Ay, Ag, Az Z IEFERECR L 23\, (10 £D)

(1) Ay =(2:-4:4:2)
(2) A2 =(3:0:2:3)
(3) As=(1:—-2:5:-1)

Filiz=0 (DFD, zy—Fl) Zx &9%. UTOFKMIZEZ LRI,

(1) ZZHENDE S = (2,1,4) ZFAXREEETEL RS, (20 5)

(2) Z=HNDR A= (1,-2,1) ZFRREETEL LS\, (20 £)

(B) MAZ, #liz S LT n IBEHEE LA B %2k, B2ELERETER LA
X, (30 45)
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(1) HEEICRE L 72 TH X, EoREO@,rb 5 X 5 ICHER S % 30k
52k,
(2) BERIIMAE ST CEL2T T8I T 2 2 &, Ao R g X

RO RE T 5,
(3) FOMBRMAEIIHAONRE T 2,
(4) BEAMDRY 5 ot HIFEF2 L CGHUBREEHICENMOAREZ L 59 2 &
nE, EEAROEZMEHL TOHbR W,
ABRINF AT 1 HTIC § X TOME 238 > 7o F 3@ ORIE L TH b e,
(6) BTHOERHE TS Z L,
(7) PHELLA-TroREMEZ 12 A 16 B (K) 16:30 &7 3,
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